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6 A spring, which obeys Hooke’s law, has an unstretched length of 10cm.
A load of 20N is suspended from the spring.
The new length of the spring is 36 cm.

What is the spring constant k of the spring?
A 0.56N/cm B 0.77N/cm C 1.3N/cm D 1.8N/cm
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5 A 20m long, uniform bridge of weight 100kN is supported at each end by pillars, as shown.

T| T2
20m

5

bridge

pillar 24 KN pillar
100 kN
The pillars exert forces Ty and T, on the ends of the bridge.

What are the values of T; and T, when a van of weight 24kN is on the bridge, 5m from the
left-hand pillar?

T:i/kN T2/kN

A 56 68
B 62 62
Cc 68 56
D 74 50





image6.png
4 Which substance in the table has the lowest density?

substance mass/g volume/cm?®
A nylon 1.2 1.0
B cotton 1.5 1.0
Cc olive oil 1.8 2.0
D water 2.0 2.0
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10 A scientist uses an electric motor to lift a load through a vertical distance of 2.0m.

He then increases the input power to the motor and repeats the experiment. The efficiency of the
motor does not change.

Which row correctly describes the effect that this has on the useful work done lifting the load and
the time taken to lift it?

work done time taken
A decreases decreases
B stays the same decreases
[ decreases stays the same
D stays the same stays the same
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7 What is the relationship between the impulse acting on an object and the change in momentum of
the object?

A impulse = change in momentum
B impulse = change in momentum x time

change in momentum

C impulse = -
time

change in momentum

D impulse =
mass

8 Electrical energy may be obtained from nuclear fission.
In which order is the energy transferred in this process?
A nuclear fuel — generator — reactor and boiler — turbines
B nuclear fuel —» generator — turbines — reactor and boiler
C nuclear fuel — reactor and boiler —» generator — turbines
D -

nuclear fuel reactor and boiler — turbines — generator

9 A motor of power P exerts a force F on an object. The object moves a distance d during the time ¢
that the force acts.

Which equation is used to calculate the time ¢?

A t=F B t=Fd c t=Pd p t=F
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Which instrument is most suitable for measuring the thickness of a single sheet of paper?
A 15cmrule

B balance
C metrerule
D

micrometer screw gauge
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2 The diagrams show distance-time graphs for four objects.

Which graph represents an object moving with an increasing speed?
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3 An object has a weight of 6.4 N on the Earth where the gravitational field strength is 10 N/kg.

Which row states the mass and the weight of the object on the Moon where the gravitational field
strength is 1.6 N/kg?

mass/kg m“e’el:/?:tt:r?? N
A 0.64 1.0
B 0.64 6.4
c 40 1.0
D 4.0 6.4
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